Journal of Mathematical Research & Exposition Nov., 2011, Vol. 31, No. 6, pp. 989–996 DOI:10.3770/j.issn:1000-341X.2011.06.004 Http://jmre.dlut.edu.cn

On Ordered Ideals in Ordered Semirings

Ai Ping GAN^{1,*}, Yang Lan JIANG²

1. Department of Mathematics, Jiangxi Normal University, Jiangxi 330022, P. R. China;

2. Jiangxi Police College, Jiangxi 330103, P. R. China

Abstract An ordered semiring is a semiring S equipped with a partial order \leq such that the operations are monotonic and constant 0 is the least element of S. In this paper, several notions, for example, ordered ideal, minimal ideal, and maximal ideal of an ordered semiring, simple ordered semirings, etc., are introduced. Some properties of them are given and characterizations for minimal ideals are established. Also, the matrix semiring over an ordered semiring is considered. Partial results obtained in this paper are analogous to the corresponding ones on ordered semigroups, and on the matrix semiring over a semiring.

Keywords ordered semiring; ordered ideal; simple semiring; minimal ideal; matrix.

Document code A MR(2010) Subject Classification 13A15; 06F99; 16Y60 Chinese Library Classification 0152.7; 0153.3

1. Introduction

A semiring is an algebra $S = (S, +, \cdot, 0)$ equipped with binary operations + (sum or addition) and \cdot (product or multiplication) and constant 0 such that (S, +, 0) is a commutative monoid, (S, \cdot) is a semigroup and multiplication distributes over addition from both sides. Thus,

$$(a+b)c = ac + bc,$$

$$c(a+b) = ca + cb,$$

$$a0 = 0a = 0$$

hold for all $a, b, c \in S$.

A semiring S is called an antiring if it is zerosumfree, i.e., if the condition a + b = 0 implies that a = b = 0 for all $a, b \in S$.

A semiring S is called entire if ab = 0 implies that a = 0 or b = 0.

An ordered semiring is a semiring S equipped with a partial order \leq such that the operations are monotonic and the constant 0 is the least element of S.

If S is an ordered semiring and a, $b \in S$ such that a + b = 0, then $a = a + 0 \le a + b = 0$ and so a = 0. Similarly, b = 0. Therefore, any ordered semiring is an antiring.

Received July 5, 2010; Accepted January 12, 2011

Supported by the National Natural Science Foundation of Jiangxi Province (Grant No. 2010GZS0093). * Corresponding author

E-mail address: ganaiping78@163.com (A. P. GAN)

A morphism of semirings is a function that preserves the operations and the constant 0. A morphism of ordered semirings also preserves the partial order.

A subsemiring of a semiring S is a nonempty subset of S which is closed under the operations and constant 0. A left (resp. right) ideal of a semiring S is a subsemiring I of S such that $s \in S$ and $x \in I$ implies $sx \in I$ (resp. $xs \in I$). I is an ideal if it is both a left and a right ideal.

Let *H* be a nonempty subset of *S*. Then the set $\{x \in S : x \leq h \text{ for some } h \in H\}$ is denoted by the notation (*H*]. For $H = \{a\}$, we write (*a*] instead of ($\{a\}$]. It is clear that $H \subseteq (H]$, ((*H*]] = (*H*] and $A \subseteq B \Rightarrow (A] \subseteq (B]$ for any nonempty subset *A*, *B* of *S*.

We refer to [1–4] for all background information concerning semirings, semigroups, and universal algebra.

2. Ordered ideals of ordered semirings

In this section, we define our main concept, ordered ideals of ordered semirings, and establish some of their elementary properties.

From this section to the third section, S stands for an arbitrary ordered semiring.

Definition 1 A left (resp. right) ideal I of S is called a left (resp. right) ordered ideal, if for any $a \in S$, $b \in I$, $a \leq b$ implies $a \in I$ (i.e., $(I] \subseteq I$). I is called an ordered ideal of S if it is both a left and a right ordered ideal of S.

Remark 1 It is clear that $\{0\}$ and S itself are ordered ideal of S. An ordered ideal I of S such that $I \neq \{0\}$ and $I \neq S$ is called a proper ordered ideal.

Example 1 Let $L = ([0,1], \lor, \cdot, 0)$, where [0,1] is the unit interval, $a \lor b = \max\{a, b\}$ for $a, b \in [0,1]$ and $a \cdot b = (a+b-1) \lor 0$ for $a, b \in [0,1]$. It is easy to verify that L equipped with the usual ordering \leq , is an ordered semiring. Let $I = [0, \frac{1}{2}]$. It is not difficult to verify that I is an ordered ideal of L.

Proposition 1 Let $f : R \to S$ be a morphism of ordered semirings. Then $K = \{x \in R : f(x) = 0\}$ is an ordered ideal of R.

Proof Clearly K is nonempty since $0 \in K$. Suppose that $r \in R$ and $x, y \in K$. Then we have

$$f(rx) = f(r)f(x) = f(r)0 = 0, \ f(xr) = f(x)f(r) = 0f(r) = 0,$$

and

$$f(x+y) = f(x) + f(y) = 0 + 0 = 0.$$

Hence rx, xr, $x + y \in K$. In addition, if $a \leq x$ for some $x \in K$, then $f(a) \leq f(x) = 0$ since f is a morphism. Thus f(a) = 0 as 0 is the least element of S. It follows that $a \in K$. This completes the proof. \Box

Lemma 1 Let $\{I_{\lambda}, \lambda \in \wedge\}$ be a family of ordered ideals of *S*. Then $\bigcap_{\lambda \in \wedge} I_{\lambda}$ is also an ordered ideal of *S*.

Proof Clearly $\bigcap_{\lambda \in \Lambda} I_{\lambda}$ is an ideal of S (see [2]). Suppose that $a \leq x$ for some $x \in \bigcap_{\lambda \in \Lambda} I_{\lambda}$.

Since $x \in I_{\lambda}$ and I_{λ} is an ordered ideal of S, we have $a \in I_{\lambda}$ for each $\lambda \in \wedge$. Thus $a \in \bigcap_{\lambda \in \wedge} I_{\lambda}$. This completes the proof. \Box

The intersection of all ordered ideals of S containing a nonempty subset A of S is the ordered ideal of S generated by A, denoted by L(A). For $A = \{a\}$, we denote by L(a) the ordered ideal of S generated by $a \ (a \in S)$.

Proposition 2 Let I be an ideal of S. Then (I] is an ordered ideal of S generated by I.

Proof Clearly (I] is nonempty since $I \subseteq (I]$. Suppose that $r \in S$ and $a, b \in (I]$. Then there exist $x, y \in I$ such that $a \leq x$ and $b \leq y$ by the definition of (I]. Since S is an ordered semiring and I is an ideal of S, we have $ra \leq rx \in I$, $ar \leq xr \in I$ and $a + b \leq x + y \in I$. It follows that $ra \in (I], ar \in (I]$ and $a + b \in (I]$. As for $((I]] \subseteq (I]$, it is clear. Hence (I] is an ordered ideal of S containing I. Moreover, if J is an arbitrary ordered ideal of S containing I, then $(I] \subseteq (J] \subseteq J$. Thus (I] is the least ordered ideal of S containing I. That is to say, (I] is an ordered ideal of S generated by I, as required. \Box

Corollary 1 For any $a \in S$, L(a) = (A], where $A = \{\sum_{fin} (n_i a + x_i a + ay_i + u_i av_i : n_i \text{ are nonnegative integers}, x_i, y_i, u_i, v_i \in S\}$.

Proof It is easy to verify that A is an ideal of S generated by a (see [2]). So by Proposition 2, we have (A] is an ordered ideal of S containing a. Thus $L(a) \subseteq (A]$. On the other hand, L(a) is also an ideal of S containing a, so we have $A \subseteq L(a)$. Thus $(A] \subseteq L(a)$ since (A] is an ordered ideal of S generated by A. Therefore L(a) = (A], as required. \Box

Corollary 2 Let A, B be ideals of S. Then $L(A \cup B) = (A + B]$, where $A + B = \{a + b : a \in A, b \in B\}$.

Proof It is easy to verify that A+B is an ideal of S generated by $A\cup B$ (see [2]). So by Proposition 2, we have (A+B] is an ordered ideal of S containing $A \cup B$. Thus $L(A \cup B) \subseteq (A+B]$. On the other hand, $L(A \cup B)$ is also an ideal of S containing $A \cup B$, so we have $A+B \subseteq L(A \cup B)$. It follows that $(A+B] \subseteq L(A \cup B)$ since (A+B] is an ordered ideal of S generated by A+B. Therefore $L(A \cup B) = (A+B]$. \Box

Corollary 3 Let A, B, C be ordered ideals of S. Then $(C \cap A + C \cap B] \subseteq C \cap (A+B]$. Moreover, if $x \leq y+z$ implies $x \leq y$ or $x \leq z$ for all x, y, z in the poset (S, \leq) , then $(C \cap A + C \cap B] = C \cap (A+B]$.

Proof It is easy to verify that $C \cap (A + B]$ is an ordered ideal of S containing $C \cap A$ and $C \cap B$ by Lemma 1 and Proposition 2. While by Proposition 2, we have $(C \cap A + C \cap B] = L((C \cap A) \cup (C \cap B))$. So $(C \cap A + C \cap B] \subseteq C \cap (A + B]$.

As for the second claim, suppose that $x \in C \cap (A + B]$. Then $x \in C$ and $x \leq a + b$ for some $a \in A$ and $b \in B$. By hypothesis, we have $x \leq a$ or $x \leq b$. Thus $x \in C \cap A$ or $x \in C \cap B$. It follows that $x \in (C \cap A) \cup (C \cap B) \subseteq ((C \cap A) + (C \cap B)]$. Thus $C \cap (A + B] \subseteq (C \cap A + C \cap B]$ and so $(C \cap A + C \cap B] = C \cap (A + B]$, as required. \Box

Remark 2 In general, the equation $(C \cap A + C \cap B] = C \cap (A + B]$ does not hold in an arbitrary

ordered semiring.

Example 2 Let $(N_5 = \{0, 1, a, b, c\}, \leq)$ be the pentagon lattice depicted in Figure 1. We define two binary operations +(addition) and ·(multiplication) on N_5 as follows, $x + y = x \lor y$ and $x \cdot y = 0$ for all x, y in N_5 . It is not difficult to verify that $(N_5, +, \cdot, 0, \leq)$ is an ordered semiring. Let $A = \{0, a\}, B = \{0, b\}, C = \{0, b, c\}$. Then it is easy to verify that A, B, C are ordered ideals of N_5 , and $(A + B] = N_5$. So $(C \cap A + C \cap B] = (C \cap B] = B \neq C = C \cap (A + B]$.



Figure 1 The 'pentagon' lattice N_5

Proposition 3 Let $I(S) = \{J : J \text{ is an ordered ideal of } S\}$. Then I(S), with \subseteq as the partial ordering, is a complete lattice.

Proof It is obvious that $(I(S), \subseteq)$ is a poset. In addition, for any I and J in I(S), by Lemma 1 and Corollary 2, we have $I \wedge J = I \cap J$ and $I \vee J = (I+J]$. Thus $(I(S), \subseteq)$ is a lattice. Moreover, it is clear that $\{0\}$ is the smallest element and S is the largest element in the poset $(I(S), \subseteq)$. Again by Lemma 1, I(S) is closed under arbitrary intersection. Thus $(I(S), \subseteq)$ is a complete lattice. \Box

3. Minimal ideals and simple ordered semirings

An ordered semiring S is called simple if it does not contain proper ordered ideals. A proper ordered ideal I of S is called minimal if there is no proper ordered ideal J of S such that $J \subseteq I$. Equivalently, if for any ordered ideal J of S such that $J \subseteq I$, then we have J = I or $J = \{0\}$.

Definition 2 A subsemiring K of S is called simple, if the ordered semiring $(K, +, \cdot, 0, \leq)$ is simple.

Remark 3 That an ordered semiring S is simple does not imply that a subsemiring of S is also simple.

Example 3 Let $L = ([0, +\infty), \lor, \lor, 0)$, where $\lor = \max$ and \cdot is the usual multiplication of real numbers. Let R = [0, 1]. It is easy to verify that L equipped with the usual ordering \leq , is an ordered semiring and simple; and R is a subsemiring of S but not an ideal. Also R is not simple since T = [0, 1) is a proper ordered ideal of R.

Lemma 2 S is simple if and only if L(a) = S for all $a \in S$ and $a \neq 0$.

Lemma 3 Let I be an ordered ideal of S and K be a simple subsemiring. If $K \cap I \neq \{0\}$, then $K \subseteq I$.

Proof Let $0 \neq a \in K \cap I$. Since K is simple and $0 \neq a \in K$, we have $L_K(a) = K$ by Lemma 2, where $L_K(a)$ denotes the ordered ideal of K generated by a, that is, $L_K(a) = (A]$, where $A = \{\sum_{fin} (n_i a + x_i a + ay_i + u_i av_i : n_i \text{ are nonnegative integers, } x_i, y_i, u_i, v_i \in K\}$. Therefore $K = L_K(a) \subseteq L(a) \subseteq I$ since $a \in I$, as required. \Box

Theorem 1 Let S be an ordered semiring and entire. Then an ordered ideal of S is minimal if and only if it is simple.

Proof \Rightarrow . Let *I* be a minimal ordered ideal of *S*, and $J \neq \{0\}$ be an ordered ideal of *I*. Let $H = \{h \in J : h \leq \sum_{\text{fin}} k_i a_i l_i \text{ for some } k_i, l_i \in I \text{ and } a_i \in J\}$. Then $H \subseteq J \subseteq I$.

In the following, we will prove that H is an ordered ideal of S and $H \neq \{0\}$. We shall prove it in three steps.

(1) Since $I \neq \{0\}$ and $J \neq \{0\}$, we can choose $0 \neq a \in I$ and $0 \neq b \in J$. Thus $0 \neq aba \in H$ since S is entire. It follows that $H \neq \{0\}$.

(2) *H* is an ideal of *S*. In fact, suppose that $s \in S$ and $x, y \in H$. We have $x \leq \sum_{\text{fin}} k_i a_i l_i$ and $y \leq \sum_{\text{fin}} u_j b_j v_j$ for some $k_i, l_i, u_j, v_j \in I$ and $a_i, b_j \in J$. Then

$$x + y \le \sum_{\text{fin}} (k_i a_i l_i + u_j b_j v_i)$$

and

$$sx \le s \sum_{\text{fin}} k_i a_i l_i = \sum_{\text{fin}} (sk_i) a_i l_i, \ xs \le (\sum_{\text{fin}} k_i a_i l_i) s = \sum_{\text{fin}} k_i a_i (l_i s).$$

We immediately have $x + y \in H$. At the same time, since $sx \in SH \subseteq SI \subseteq I$, $\sum_{\text{fin}} (sk_i)a_i l_i \in IJI \subseteq J$ and J is an ordered ideal of I, we have $sx \in J$. Moreover, since $sk_i \in SI \subseteq I$, $a_i \in J$ and $l_i \in I$, we get $sx \in H$. A similar argument shows that $xs \in H$. Thus H is an ideal of S.

(3) $(H] \subseteq H$. Indeed, suppose that $x \leq h$ for some $h \in H$. Since $h \in H$, we have $h \in J$ and $h \leq \sum_{\text{fin}} k_i a_i l_i$ for some $k_i, l_i \in I$ and $a_i \in J$. Thus $x \leq \sum_{\text{fin}} k_i a_i l_i \in SJS \subseteq SIS \subseteq I$. It follows that $x \in I$ since I is an ordered ideal of S. As $x \leq \sum_{\text{fin}} k_i a_i l_i \in IJI \subseteq J$, $x \in I$ and Jis an ordered ideal of I, we have $x \in J$. Then since $x \in J$, $x \leq \sum_{\text{fin}} k_i a_i l_i, k_i, l_i \in I$ and $a_i \in J$, we have $x \in H$.

Thus H is an ordered ideal of S and $H \neq \{0\}$. Since I is a minimal ideal of S, we have H = I and so J = I. Therefore I is simple.

 \Leftarrow . Let K be an ordered ideal of S and simple. Let J be an ordered ideal of S and $J \neq \{0\}$ such that $J \subseteq K$. Then J is an ordered ideal of K. Since K is simple, we have J = K. Therefore, K is a minimal ordered ideal of S. This completes the proof. \Box

Theorem 2 Let S be an ordered semiring and entire. Assume that S has proper ordered ideals and the equation $(C \cap A + C \cap B] = C \cap (A + B]$ holds for any ordered ideals A, B, C of S. Then every proper ordered ideal of S is minimal (simple) if and only if S contains exactly one proper ordered ideal or S contains exactly two proper ordered ideals J, K such that S = (J + K].

Proof \Rightarrow . Let *J* be a proper ordered ideal of *S*. By hypothesis, *J* is a minimal ordered ideal of *S*. Then we have the following two cases:

(1) $S = L(a), \forall a \in S \setminus J (S \setminus J \text{ is the complement of } J \text{ in } S).$

Suppose that K is also a proper ordered ideal of S and $K \neq J$. If $K \setminus J = \emptyset$, then $K \subseteq J$ and so $K \subset J$, which is impossible (since J is minimal). If $K \setminus J \neq \emptyset$, then $S = L(a) \subseteq K$, for some $a \in K \setminus J \subseteq S \setminus J$ and so S = K. Contradiction. Thus, in this case, J is the unique proper ordered ideal of S.

(2) $S \neq L(a)$, for some $a \in S \setminus J$.

Then L(a) is a proper ideal of S. By hypothesis, L(a) is minimal. By Corollary 2, (L(a) + J] is an ordered ideal of S. Assume that $(L(a)+J] \neq S$. Then (L(a)+J] is a proper ordered ideal of S. By hypothesis (L(a) + J] is a minimal ordered ideal of S. On the other hand $J \subset (L(a) + J]$. We get a contradiction. Thus (L(a) + J] = S.

Let K be an arbitrary ordered ideal of S. By hypothesis, K is minimal. Since $K = K \cap S = K \cap (L(a) + J] = (K \cap L(a) + K \cap J]$, we have the following two cases:

(a) $K \cap J \neq \{0\}$. Then $K \cap J$ is an ordered ideal of S by Lemma 1. Since $K \cap J \subseteq J$, J is minimal, we have $K \cap J = J$, i.e., $J \subseteq K$. Since K is minimal, we have J = K.

(b) $K \cap L(a) \neq \{0\}$. A similar argument shows that K = L(a).

Therefore, in this case, S contains exactly two proper ideals J and L(a) such that S = (L(a) + J].

 \Leftarrow . If S contains exactly one proper ordered ideal J, it is obvious that J is minimal. Suppose that S contains exactly two proper ordered ideals J and K such that S = (J + K]. Then $J \notin K$ and $K \notin J$. Otherwise $S \neq (J + K]$. Let $I \neq \{0\}$ be an ordered ideal of S such that $I \subseteq J$. Then $I \subseteq J \subset S$, and so I is a proper ordered ideal of S. Since $I \subseteq J$ and $K \notin J$, we have $I \neq K$. Since S contains exactly two proper ordered ideals J, K, we have I = J. Thus J is minimal. A similar argument shows that K is minimal. \Box

4. Matrices

Let S be a semiring with identity element 1, i.e., $(S, \cdot, 1)$ is a monoid. We denote by $M_{m \times n}(S)$ the set of all $m \times n$ matrices over S. Especially, we denote by $M_n(S)$ the set of all square matrices of order n over S.

For $A \in M_{m \times n}(S)$, we denote by a_{ij} or A_{ij} the element of S corresponding to the (i, j)th entry of A. For convenience, we use \underline{n} to denote the set $\{1, 2, \ldots, n\}$ for any positive integer n. If m = n and $a_{ij} = 0$ for all $i, j \in \underline{n}$, then A is called the zero matrix and denoted by 0_n . If $a_{ij} = 0$ for all i and j provided that $i \neq j$ and $a_{ii} = 1$ for all $i \in \underline{n}$, then A is called the identity matrix and denoted by I_n .

Given $A, B \in M_{m \times n}(S)$ and $C \in M_{n \times l}(S)$, we define:

$$A + B = (a_{ij} + b_{ij})_{m \times n}; \quad AC = (\sum_{k \in \underline{n}} a_{ik} c_{kj})_{m \times l}.$$

It is easy to verify that $(M_n(S), +, \cdot, 0_n)$ is a semiring with the identity element I_n .

Moreover, if S is an ordered semiring, we define:

$$A \leq B \Leftrightarrow (\forall i \in \underline{m}) \ (\forall j \in \underline{n}) \ a_{ij} \leq b_{ij}.$$

It is easy to verify that $(M_n(S), +, \cdot, 0_n, I_n, \leq)$ is also an ordered semiring.

From now on, S stands for an arbitrary ordered semiring with identity element 1.

Proposition 4 Let I be an ordered ideal of S. Then $M_n(I)$ is an ordered ideal of $M_n(S)$.

Proof Since I is an ideal of S, we have $M_n(I)$ is an ideal of $M_n(S)$ (see [7], Proposition 2). In the following, we will prove that $(M_n(I)] \subseteq M_n(I)$.

Suppose that $A \leq B$ for some $B \in (M_n(I)]$. Then $a_{ij} \leq b_{ij}$ and $b_{ij} \in I$ for all $i, j \in \underline{n}$. Since I is an ordered ideal of S, we have $a_{ij} \in I$. Thus $A \in M_n(I)$. Therefore, $(M_n(I)] \subseteq M_n(I)$ and so $M_n(I)$ is an ordered ideal of $M_n(S)$. \Box

Proposition 5 Let K be an ordered ideal of $M_n(S)$. Then there exists a unique ordered ideal I of S such that $K = M_n(I)$.

Proof Let $I = \{a \in S : A_{ij} = a \text{ for some } A \in K\}$. We denote by e_{ij} the matrix in $M_n(S)$ with 1 as the (i, j)th entry, 0 otherwise; p_{ij} the elementary matrix in $M_n(S)$ with the *i*th row and the *j*th row of the identity matrix I_n permuted. Since $A_{ij}e_{ij} = e_{ii}Ae_{jj}$, $ae_{11} = p_{1i}(ae_{ij})p_{1j}$ for all $i, j \in \underline{n}$, it is easy to verify that $I = \{a \in S : A_{ij} = a \text{ for some } A \in K\} = \{a \in S : ae_{ij} \in K \text{ for some } i, j \in \underline{n}\} = \{a \in S : ae_{11} \in K\}.$

In the following, we will prove that I is the unique ordered ideal of S such that $K = M_n(I)$. We shall prove it in four steps.

(1) *I* is an ideal of *S*. Suppose that $a, b \in I$ and $s \in S$. Then $ae_{11}, be_{11} \in K$ and so $(a+b)e_{11} = ae_{11} + be_{11} \in K$, $(sa)e_{11} = (se_{11})(ae_{11}) \in K$, $(as)e_{11} = (ae_{11})(se_{11}) \in K$. It follows that a+b, $sa, as \in I$. Thus *I* is an ideal of *S*.

(2) $(I] \subseteq I$. Assume that $x \leq a$ for some $a \in I$. We have $xe_{11} \leq ae_{11}$ and $ae_{11} \in K$. Since K is an ordered ideal of $M_n(S)$, we have $xe_{11} \in K$. Consequently, $x \in I$.

(3) $K = M_n(I)$. Suppose that $A = (a_{ij})_{n \times n} \in K$. Then $a_{ij} \in I$ for each $i, j \in \underline{n}$. Thus $A \in M_n(I)$. It follows that $K \subseteq M_n(I)$.

On the other hand, if $B = (b_{ij})_{n \times n} \in M_n(I)$, then $b_{ij} \in I$ and so $b_{ij}e_{ij} \in K$ for each $i, j \in \underline{n}$. Consequently, $B = (b_{ij})_{n \times n} = \sum_{i,j \in \underline{n}} b_{ij}e_{ij} \in K$. It follows that $M_n(I) \subseteq K$. Thus $K = M_n(I)$.

(4) I is unique. Suppose that J is also an ordered ideal of S such that $K = M_n(J)$. Then $K = M_n(I) = M_n(J)$. In the following, we will prove I = J. Indeed, if $a \in I$, then $ae_{11} \in M_n(I)$ and so $ae_{11} \in M_n(J)$. Thus $a \in J$. It follows that $I \subseteq J$. A similar argument shows that $J \subseteq I$. Therefore I = J. This completes the proof. \Box

Theorem 3 Let $A = \{I : I \text{ is an ordered ideal of } S\}$ and $B = \{K : K \text{ is an ordered ideal of } M_n(S)\}$. Then the two lattices (A, \subseteq) and (B, \subseteq) are isomorphic.

Proof Let $f: I \mapsto M_n(I)$ be a function from A to B.

In the following, we will prove that f is an isomorphism. We shall prove it in three steps.

(1) It follows from Proposition 5 that f is onto one-to-one.

(2) f is order-preserving. Assume that $I \subseteq J$ holds in A. It is obvious that $M_n(I) \subseteq M_n(J)$. That is to say $f(I) \subseteq f(J)$.

(3) f^{-1} is order-preserving. Suppose that $K_1 \subseteq K_2$ holds in B. By Proposition 5, there

exist I, J in A such that $K_1 = M_n(I)$ and $K_2 = M_n(J)$. It follows that $M_n(I) \subseteq M_n(J)$. If $a \in I$, then $ae_{11} \in M_n(I)$ and so $ae_{11} \in M_n(J)$. Thus $a \in J$. It follows that $I \subseteq J$, i.e., $f^{-1}(K_1) \subseteq f^{-1}(K_2)$. This completes the proof. \Box

Definition 3 An ordered ideal $I \neq S$ of S is called maximal if, for any ordered ideal J of S, $I \subset J$ implies J = S.

Corollary 4 Let I be an ordered ideal of S. Then I is maximal if and only if $M_n(I)$ is a maximal ordered ideal of $M_n(S)$.

Proof Assume that I is maximal and K is an ordered ideal of $M_n(S)$ such that $M_n(I) \subset K$. By Proposition 5, there exists a unique ordered ideal J of S such that $K = M_n(J)$. Thus $M_n(I) \subset M_n(J) \subseteq M_n(S)$. By Theorem 3, we have $I \subset J \subseteq S$. Since I is maximal, we get J = S. Thus $K = M_n(J) = M_n(S)$. Consequently, $M_n(I)$ is a maximal ordered ideal of $M_n(S)$.

Conversely, if $M_n(I)$ is a maximal ordered ideal of $M_n(S)$ and T is an ordered ideal of S such that $I \subset T$. By Theorem 3, we have $M_n(I) \subset M_n(T) \subseteq M_n(S)$. Since $M_n(I)$ is maximal, we get $M_n(T) = M_n(S)$. Thus T = S. Consequently, I is a maximal ordered ideal of S. This completes the proof. \Box

Corollary 5 S is simple if and only if $M_n(S)$ is simple.

Proof Assume that S is simple and $K \neq \{0\}$ is an ordered ideal of $M_n(S)$. By Proposition 5, there exists a unique ordered ideal J of S such that $K = M_n(J)$. Thus $M_n(0) \subset M_n(J) \subseteq M_n(S)$. By Theorem 3, we have $\{0\} \subset J \subseteq S$. Since S is simple, we get J = S. Thus $K = M_n(J) = M_n(S)$. Consequently, $M_n(S)$ is simple.

Conversely, if $M_n(S)$ is simple and $T \neq \{0\}$ is an ordered ideal of S, then $M_n(T)$ is an ordered ideal of $M_n(S)$ and $M_n(T) \neq \{0\}$. Since $M_n(S)$ is simple, we get $M_n(T) = M_n(S)$. Thus T = S. Consequently, S is simple. This completes the proof. \Box

References

- GOLAN J S. The Theory of Semirings with Applications in Mathematics and Theoretical Computer Science [M]. John Wiley & Sons, Inc., New York, 1992.
- [2] Chen Peici. Semirings Theory and Languanges Automata [M]. Jiangxi Gao Xiao Press, 1993.
- [3] HOWIE J M. Fundametals of semigroups theory [M]. Oxford University Press, Oxford, 1995.
- BURRIS S, SANKAPPANAVAR H P. A Course in Universal Algebra [M]. Springer-Verlag, New York-Berlin, 1981.
- [5] CAO Yonglin, XU Xinzhai. On minimal and maximal left ideals in ordered semigroups [J]. Semigroup Forum, 2000, 60(2): 202–207.
- [6] ÉSIK Z, KUICH W. Inductive *-semirings [J]. Theoret. Comput. Sci., 2004, 324(1): 3–33.
- [7] Ou Qitong. Some properties of matrix semiring over a semiring [J]. J. Chongqing Univ. Nat. Sci. Ed., 2007, 30: 108–110.
- [8] TAN Yijia. On nilpotency of generalized fuzzy matrices [J]. Fuzzy Sets and Systems, 2010, 161(16): 2213–2226.